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‘You cannot play at chess if you are kind-hearted.’ (French Proverb) – Do you agree?

While White has 2 rooks Black has 6 pawns about to queen (Y Hoch 1979).  Can you find a draw for White?  While you might need to find a variation nearly 10 moves long the continuation runs like clockwork if you see the first move:
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Three Australians were among 300 players from 43 federations competing in the 2007 Gibraltar Open, played during the last week of January, with 176 entries, including 35 GMs, in the main event.  Prizes totalled over $185,000 with $25,000 allocated to female players.  Winner was Vladimir Akopian (Armenia) with 7.5/9, losing only to US woman Irina Krush.  Of the Aussies David Smerdon scored 5.5 while GM Ian Rogers and 14 year old Moulthan Ly each gained 4.5.  Here is Akopian’s final round win against the player neck-and-neck with him for top spot:


Vladimir  Akopian   -    Yurij  Kuzubov



2007 Gibraltar Open, Round 9



Sicilian:  3 Bb5



 1     e4  
c5  


 2     Nf3  
Nc6



 3     Bb5 
g6  


 4     Bxc6  
dxc6



 5     d3  
Bg7 


 6     h3  
b6



 7     Nc3  
Nh6(a)  

 8     Be3  
f6



 9     Qd2  
Nf7  


10    0-0-0 
e5



11    Nh2  
Be6  


12    f4  
exf



13    Bxf4 
Qd7 


14    Nf3  
0-0-0



15    d4(b)   
cxd 


16    Nxd4  
Kb7



17    Qe2  
Qe7?(c) 

18    Nxc6!! 
Kxc6(d)


19    Nd5! 
Qe8(e) 

20    Qa6!(f) 
Bf8(g)


21    Qxa7! 
Bc5 


22    b4  
Qd7



23    Qa6!
resigns

a)  Heading for f7 leaving Black well placed to facilitate an …f5 pawn break as well as preventing the exchange of bishops with Qd2 / Bh6 (2 bishops are considered potentially stronger than bishop & knight whereas one knight is usually the equal of one bishop).
b)  Although opening up a position often favours the side with the 2 bishops, Black’s loose castled position justifies this advance.

c)   The placement of the queen on an unprotected square gives White the opportunity for a winning combinative attack: both 17…Ne5 & 17…Qc8 were both playable.

d)  18…Rxd1+  19 Rxd1, Qc5 would enable Black to avoid the attack at the cost of a pawn.

e)  The knight cannot be captured – 19…Bxd5  20 exd5+, Kd7  21 Qb5+, Kc8  22 Qc6+ - while other queen moves also lose quickly – 19…Qd7  20 Nb4+ or 19…Qb7  20 Qc4+, Kd7  21 Nc7+ mating or 19…Qc5  20 b4.

f)  Cutting off a king escape at b7.  

g)  If now 20…Bxd5  21 Rxd5, Rxd5 22 Rxd5, Kxd5 leaves the king fatally exposed.

SOLUTION:  With Black’s king dangerously confined to the back rank and White’s king aggressively placed, mating threats enable White to save the position: 1 Rg8+! Kxg8  2 Rxg2+, Kf8 (2…Kh7  3 Rxh2+, Kg8  4 Rg2+ etc) 3 Rxh2, Ke8  4 Rxe2+, Kd7  5 Rxd2+, Kc6  6 Rxc2+, Kd5  7 Rxb2= (White has eliminated all the dangerous pawns and although the a pawn will cost a rook the rook or king can also eliminate the f pawn)
